Previous Year Paper

UPPSC Staff Nurse

3 October 2021




1.

4.

Wwith reference to PM-KUSUM Schemeé
objectives, which of the statements is/are
correct ?

1. Increase in farmers income by providing
reliable source for irrigation and
de-dieselise the farm sector.

2. Removing farmer’s dependence on
diesel and kerosene and linking pump
sets to solar energy.

Select the correct answer using the codes
given below :

Codes :
(a) Only 1 (b) Only 2
(c) Both1and2 (d) Neither 1 nor2

In which of the following sports of Tokyo
Olympic 2020, Neeraj Chopra won the gold
medal ?

(a) Javalin throw

(b) Badminton

(c) Tennis

(d) Weight lifting

Consider the following :
1. Atrazine 3. Butachlor
2. Paraquat 4. Alachlor
Which of the above is/are used as Weedicides ?
Select the correct answer using the codes
given below :
Codes :
(a) Only 1 (b) Only 1and 2
(c) Only2and 3  (d) Allthe above

Arrange the following events in correct
chronological sequence using the codes given
below :

1. Gandhi — Irwin Pact

2. Cabinet Mission

3. Jallianwala Bagh Massacre

4. Quit India Movement

Codes :
(a) 1,3.2,4 (b) 1,2,3,4
(c) 3,1.4,2 (d) 2,1,3,4
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5 Consider the following events and arrange
these in correct chronological order.

I. Appointment of Drafting Committee
II. Indian Constitution was passed

1. Date of execution of Indian
Constitution

V. Constituent Assembly first met

Select the correct answer from the codes
given below :
Codes :

(@) U, 11wV

(b) IV, 1, 1,1l
© I, 1, IV, ll

(d) v, I, 1, 1l

6. Which one of the following pairs is NOT
correctly matched about the sex-ratio of the

States ?
States Sex-ratio
(a) Uttar Pradesh — 912
(b) Maharashtra — 900
(c) Bihar - 918
(d) West Bengal — 950
7. lf( x* + ;(17]=119,andx> 1, then the value
10

of ( x® — ;g j is

(a) 54 (b) 18

(c) 76 (d) 36

8. Kimberley Plateau is situated in which of the
following countries ?
(a) Kenya
(b) Kiribati
(c) Austria
(d) Australia

9. Which one of the following pairs is NOT

correctly matched ?

(a) Acid present in vinegar — Acetic acid

(b) Compounds presentin — Calcium
bones phosphate

(c) Souring of milk — Nitric acid

(d) Acid present in gastric — Hydrochloric
juices acid
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(a) 10‘; arch, 2000 (b) 20th March, 2020
(c) 19 ay, 2020 (d) 2¢th May, 2020
Match List — th List — | and select the
Correct ans Using the Codes given below
€ listg -
List~| List —
(Name of city) (Industry)
A Plttsburg 1, Cigar
Leningard 2. Cotton textile
C Havang 3. lron and Steg|
D Manchester 4. Ship building
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nd phase of Ujjwala Scheme was

The s€CO

g gtarted in August 2021 from which of the
following districts in Uttar Pradesh ?
(a) Varanasi (b) Gorakhpur
(c) Mahoba (d) Ballia

16. In the world, viticulture, horticulture,
sericulture are well developed in the

(a) Monsoon regions

(b) Tropical highland

(c) Mediterranean region
(d) Marine west coast areas

{7. Which one of the following plants is called
‘Doctor of Home' ?
(a) Pipal
(c) Neem

(b) Aonla
(d) Banana

18. Which one of the following cities of
Uttar Pradesh, hosts the ‘Mango Food
Festival' ?

(a) Lucknow
(c) Gorakhpur

(b) Varanasi
(d) Prayagraj

19. In which year, English was made the medium
of instruction in India ?

(a) 1844 (b) 1835
(c) 1833 (d) 1813

20. Vertex O of the square OABC is situated at
the centre of the circle. If arcis AC =3, then
perimeter of the square is

(i

N

B
(b) 24
(d) 32

(a) 18
(c) 24n

21. The energy of the sun is produced by
(a) Nuclear fusion (b) Oxidation
(c) Gravitation (d) Nuclear fission
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SWorn \ 1, Ebrahim Raisi was
ne ; :
C(’;;hLeJ f9|lowing Co\ljlniir:zlgent of which one
(b) A: "ed Arab Emiraes
ghaniStan
(C) |raq
(d) lran

Indian COnSt'tutiOr?f the following Articles of

IN accorda N, President is bound to act

inisters ?”Ce With the advice of Council of
(a) 74 (1)

b) 7
(c) 74 (3) § d; iy Ei;
If 3= y) = 5y
= and 3(x +y) =

value of x is 243, then the
(@) 0 (b) 2

With reference t

o 0 the removal of a member

Union Public Service Commission, which
of the following statements is/are correct ?

1. A member of Union Public Service

Commission may be removed from his
office by the order of President on the
ground of misbehaviour.

2. Such removal of a member of Union
Public Service Commission requires a
reference to be made by the Presidentto
Supreme Court forinquiry in accordance
with the prescribed procedure and
receipt of its report on such reference.

Select the correct answer using the code
given below :

Codes :

(a) Only 1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

«Krishak Samridhi Aayog” was established
in Uttar Pradesh in the year

(a) 2016 (b) 2017

(c) 2018 (d) 2019
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St
&y which one of the following is NOT correctly
matched
(Book) (Author)
a) Fatwah-i—Jahadari — Zia-ud-din
o Barani
(b) Khazain-ul-Futuh — Amir Hasan
Dihalvi
— Isami

() Futuh-us- -Salatin
(d) Tarikh-i- Mubarakshahi — Yahya bin
Ahmad

.2 ‘Blue Revolution’ in India is related to
B (@) Agricultural Production

(b) Oil Seeds Production

(c) Fish Production

(d) Pulse Production

On the basis of Union Budget 2021-22,
arrange in increasing order of expenditure
on the following items :
| State share of taxes and duties
Il. Subsidies
lll. Interest payments
V. Defence
Select the correct answer using the codes
given below.
Codes :
@1, Il IIl, v
(b) 1V, ll [, m?
(c) M, I, lV
(d) IV, III I

“wa

30. In Tokyo Olympic 2020, the correct order of
medals won by India is

Gold Silver Bronze Total
medal medal medal medal
@ o 3 4 7 %
(b) 1 2 4 7
) 2 1 4 7 X
(d) 1 3 3 7
e
o
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Which of the following disease may occur
due to deficiency of thiamine ?

(a) Beri-beri (b) Pellagra

(c) Dermatitis (d) Scurvy

Phrase, 100 days cough is used for which
disease ?

(a) Tuberculosis

(b) Measles

{(¢) Diphtheria

(d) Pertusis
Match List — | with List — Il and select the
correct answer from the codes given below.
List — 1 List— 1l
A. Inevitable abortion 1. Control of
bleeding
B. Tetanic contraction 2. Haemolytic
of uterus disease
C. Erythroblastosis 3. Rupture of
foetalis uterus
D. Oxytocin 4. Dilatation of
cervix
Codes :
A B C D cv
(a) 4 3 2 -
(b) 2 4 3 1
(c) 1 2 3 4
(d) 3 4 1 2

in which stage Oedipus conflict occur in
children ?

(a) Oral stage
(c) Genital stage

(b) Phallic stage
(d) Anal stage

False perception without any stimulus is
known as

(a) Delusion

(c) Hallucination

(b) Ilusion
(d) Delirium

Which one of the following parameter is NOT
included in “APGAR Score” ?

(a) Heart Rate (b) Blood Pressure
(c) Muscle Tone (d) Colour of the Baby
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57
© Mateh List — | ang List — Il and select the
Correct answer from the codes given below.
List —| List -1l

A. Inadequate light 1. Lack of
concentration and

5 irritability
- Excessive sound 2. Raynaud’s
disease
C. Excessive 3. Miner’s
vibration Nystagmus

D. High pressure
under water

4. Caisson’s disease

Codes :
A B c D
(b) 3 1 2 4 ™
(c) 4 3 1 24
(d 3 2 1 4.

In reference to the principle of growth and
development of children, which of the
following statements is/are correct ?
1. Growth and Development proceeds in
Cephalocaudal direction.
2. Growth and Development proceeds in
proximodistal direction.

Select the correct answer from given code.
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2

In which year “Medical Termination of
Pregnancy Act” was passed in India ?

(a) 1981 (b) 1990

(c) 1971 (d) 2000

Which of the following drugs causes extra
pyramidal symptoms as side effects ?

(a) Anti depressant drugs

(b) Anti psychotic drugs

(c) Anti anxietY_deQS

(d) Mood gtabilisers
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Which of the following is an antihemorrhagic
Vitamin ?

(a) Vitamin A (b) Vitamin D

(c) Vitamin E (d) Vitamin K

RTPCR term denotes

(a) Real Time Polymerase Chain Reaction

(b) Reverse Transcriptase Polymerase
Chain Reaction

(c) Raised Time Polymerase Chain
Reaction

(d) None of the above

Match List — | with List — Il correctly.

List—1 List- 1l
Level of 1.Q. Range

intelligence
A. Idiot ) i. 50—-69
B. Imbecile ii. 256 -49
C. Moron iii. 00—24
D. Normal ‘iv. 90-109
Codes :

A B C D
(@) i ii iii ivy
(b) ii i v i/
(c) iii i i v,
(d)y i i i iv

Which part of the uterus is called as living
ligature of the uterus ?

(a) Perimetrium

(b) Endometrium

(c) Middle layer of myometrium

(d) Inner layer of myometrium

Ableeding disorder characterised by deficiency
of factor VIl and IX is termed as

(@) Purpura

(b) Hemophilia

(c) Thrombocytopenia

(d) Leukemia
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66. Which hormones control the sexual
behaviour 7
(@) Serotonin and Melatonin

(b) Oxytocin and Vasopressin
(€) Thyroxin and Adrenalin
(d) Androgens and Oestrogens

67. What is the immediate

bite ?

(a) Suturing of wound

(b) Antiseptic on wound

(c) Hospitalisation

(d) Washing the wound with soap and
water

68. As pPer the housin
statement is NOT true ?
(a) Minimum height of roof should be ten
feet

(b) There should be at least two windows
in a room

(c) Windows should be at the height of
three feet in the wall of the room

(d) Every room should have two doors of
six feet height

69. The amount of blood pumped by each
ventricle during ventricular contraction is
termed as
(a) Stroke volume (b) Cardiac output
(c) Tidal volume (d) Heart rate

70. Which one is the real Parkland formula to
estimate the fluid requirement in first 24

hours in a serious burnt patient ?

(a) 4 ml x Total burnt surface area in % x
Body weight in kilogram

(b) 3 ml % Total burnt surface area in % x
Body weight in kilogram

() 2 ml x Total burnt surface area in % x
Body weight in kilogram

(d) 1 ml x Total burnt surface area in % x
Body weight in kilogram

management of dog

g standards, which
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66.

67.

(a) =T 9T TRt ST

(b) =@ R THELTEH ST

(c) AT H el AT

(d) |1 & 9T & =1 i W6 AT

T H FH-H1 HUA AT TR F sEn

FEE R ?

(a) ATETE & B T FIam F=13 29 Fre B
=fey

(b) I R | %1 § =7 3 Rasfegt e
fer :

(c)?j%q‘raﬁ‘méﬁqi%ﬁam‘rm?ﬁqtﬁz

(d) Y% FN # Tr Bz =S H 9 7@ B

68.

69. mm%mmmmw

ﬁﬁqwmaﬁwaﬁmmﬁmm%?

(a) &I Jegm
(c) TT5=H ey

m@rmﬂtwﬁaﬁwﬂﬁaaﬁmmdﬁﬁ

ﬁﬁmﬁh%,mmaﬁqﬁ%@@w%?

(a) 4WX%W§W3§3§%¥W'&X
TSt &1 oS T

(b) 3ﬁ?ﬁ?«ﬁaxwwgm & gfewra f =
TSt T o fretmg &

(c) 2 Forefiefier x et srem gam am whwr  «
TS =1 51 fpetiomy §

(d) 1ﬁ?«ﬁ?ﬁax%w§3ﬂ SERITNCRE
ST 1 a5 fheimm 3

(b) =FriegeR
(d) sl &

70.
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All are the impact of population explosion,

\’a) Poverty (b) Percapita Income
(c) Food (d) Religion

Which one is the most important drug in the
management of Anaphylactic shock ?
@) Atropin (b) Adrenalin
(c) Deriphyllin (d) Aminophyllin
Large scale water purification of water
comprises all steps except
(a) Water storage —
(b) Disinfection
(c) Screening
(d) Filtration
74. Which statement is NOT correct about
international Council o‘f-I’\J—Jr"ses 7
(a) It works to ensure quality nursing care

for all
(b) It helps in advancement of nursing
knowledge
petent and

(c) It ensures to provide com
satisfied nursing force

(d) Its contribution in ensurin
n world is minimal

g sound health
policy i

o denote when a woman

'5. The term used t
band at one

is having more than one hus
time

(a) Monogamy
(c) Polyandry

(b) Polygamy
(d) Group marriage

s at mid shaftis likely to cause

6. Fracture of humeru
erves ?

injury to which of the following N
(a) Musculocutaneous nerve
(b) Ulnar nerve

(c) Median nerve

(d) Radial nerve
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79,

80.

81.

82.

83.

In a computer, the convenient place to store
contact information for quick retrieval is

(a) Address Box  (b) Message Box
(c) Address Book (d) Store Box

Which one of the following is NOT a principal
organ of World Health Organisation ?

(@) World Health Assembly

(b) Executive Board

(c) Governing Body

(d) The Secretariat

DMPA is an injectable contraceptive, which
is given after an interval of every

(a) Two weeks

(b) Three weeks

(c) Three months

(d) Two years

Deleted emails are stored in
(a) Drafts (b) Trash
(c) Inbox (d) Sent mail

Any relatively permanent change in behaviour
brought about by experience or practice is
called

(a) Maturation
(c) Learning

(b) Motivation
(d) Observation

Spinal anesthesia is given usually at which
level of spinal cord ?
(@) L,— L4
(c) Ls—Le

(b) Ly—Ly
(d) Ly—Ly

Rh factor incompatibility can produce
(a) AIDS .

(b) Sickle Cell Anemia

(c) Erythroblastosis foetalis

(d) Turner's syndrome
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Is'ut.'
3-4 Al n to Halitosis is
correct, except
(@) Bad Breath
(b) Odour producing bact
(c) Carbon compound pro

(d) Sulfur compound produ

| the statements in relatio

eria
ducing bacteria
cing bacteria

st thing to do, in case of a
d of leg due to accident ?
t some pressure

What is the fir

pleeding woun

(a) Apply pressure a
points

(b) Elevate the wound site

(c) Apply direct pressure at bleeding point

with a clean/sterile dressing

(d) Apply @ bulky dressing to absorb the

blood

(w=)
3

Which disease is related to personal

hygiene ?

(a) Scurvy

(b) Rickets

(c) Migrains

(d) Hookworm Disease

86.

d and develop

If fertilised ovum is implante
it is

87.
side the normal uterine cavity,

out
known as

(a) Multiple Pregnancy

(b) Ectopic Pregnancy

(c) Hydatiform Mole

(d) Post Mature Pregnancy
Which mosquito breeds in artificial collection
of fresh water ?
(a) Anopheles
(c) Aedes

88.

(b) Culex
(d) Mansonia

8 .
9. In which health problem phototherapy may

be useful ?

(a) Eczema

b) Psoriasis

(c) Neonatal Jaundice

STN - 21
84. Hﬁﬁéﬁuaﬁwﬁﬁﬁmmﬁ ;
e FE LT,
O RIEIRELS]

(b) Tier a1 S e ey
(c) FTaT 2fiTeh a1 KT ATt Sty
(d) Tiereh 3 TR U1 A Tt Sy
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T 2, o TelwerH o FEAT < 7
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86. Eﬁﬂﬂq—mﬂﬂwﬁlﬂﬂwﬁg@ﬁ%?
(a) The
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(d) go—haﬁaﬁmﬁ
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(a) AT peereil
(b) wefueh STl
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(
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92.

93.

94.

95.

Bile s formed by which organ of the body ?
Live (b) Pancreas

Gall bladder (d) Small intestine

Match List — I with List— |l and give the correct
answer from the given codes.
List—1|
A. Cognitive Learning 1. Skill
B. Affective Learning 2. Knowledge
C. Psychomotor Learning 3. Attitude
Codes :
A
(a) 1
(b) 2
(c) 2
(d) 3

List — 11

B
2
3
1
1

NWa wD

Low birth weight baby is defined as g birth
weight of

(a) Less than 2000 grams

(b) Less than 2500 grams -

(c) Less than 2800 grams

(d) Less than 3000 grams

The amount of OXygen required to decompose
the organic matters of water by microbes is
known as

(a) Dissolved Oxygen in water

(b) Biological Oxygen Demand of Water
(c) Eutrophication
(d) Surface flow

Macewen'’s sign is found in which disease ?
(a) Hydrocephalus (b) Meningitis
(c) Appendicitis (d) Cerebral Palsy

What is the recommended flow rate of
oxygen via nasal cannula ?

(a) 1 — 4 litre/minute

(b) 4 — 6 litre/minute

(c) 6 — 8 litre/minute

(d) 8 — 10 litre/minute
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e
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93. ﬁﬁz?mﬁa%m?ﬁsﬁWﬁmaaﬂéﬁﬁ
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(a) 9 4 e g arerfiery
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(c) I ke
(d) &8 =1 yarg
94. ﬁﬁmwﬁmaﬁmﬁwm%?
(a) BTsgEway (b) Af=Irsfog
() Sdamfen () i S
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(@) 1 -4 et ufy firge
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(c) 6 — 8 <fiex ufy fire
(d) 8 — 10 wfrex wfyy fipge



-

\'UT_:
2 \hich one of the following is NOT 8 water | 96.
) porne disease ?
(@) Measles (b) Typhoid
(c) HepatitisA (d) Cholera
+ The post partum period extends for how | 97.
many weeks after delivery ?
(a) 2 weeks (b) 4 weeks
(c) 6 weeks (d) 8 weeks :
)
s Where is the global headquarter of 08.
UNICEF ?
(a) Geneva (b) New York
(c) New Delhi (d) Islamabad
- Chlorofluorocarbons (CFC) is widely used in 99.
(a) Propellants (b) Heaters
(c) Coolants (d) Conductors
9. Characteristics of good recording and | 100.
reporting are
(a) Accuracy (b) Conciseness
(c) Thoroughness (d) All of the above
1. Which one is the main cause of post partum | 101.
haemorrhage ?
(a) Atonic Uterus
(b) Trauma
(c) Blood Coagulopathy
(d) Retained Placenta
10 :
2. Which among the following is NOT used as | 102.
chemical antiseptic and disinfectant ?
(a) Formaldehyde
(b) Phenol
(¢) Hydrogen peroxide
" (d) Benzene Hexachloride
17-
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(a) @aq (b) CswIE
(c) federsfea T (d) &=
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(a) 29« (b) 4 g
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v{rﬁﬁm?ﬂéﬁ%ﬁ*g@maﬁ%?
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gare ¢
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103

104.

105.

106.

5

Hind milk of mothers breast is rich in

\a) Fats along with Vitamin A and E
(b) Vitamins and Minerals
(c) Protein

(d) Lactose

What is the first thing to be examined in an

unconscious patient due to accident ?
(@) Patency of airway

(b) Haemorrhage
(c) Fractures
(d) Head injury

Which one of the following is NOT associated
with Juvenile delinquents ?
(@) Shelter Home
(b) Reformatory Schools
(c) Borstal Schools ~
(d) Probation Hostels
Match List — | with List — Il and select the
correct answer from the codes given below.
List —| List—1i
A. Red bag 1. Bandages
B. Yellow bag 2. Gloves
C. Bluish white
puncture proof .3. Stationery waste
bag
D. Black bag 4. Needles
Codes :
A B C D
1 4
(@ 3 2
) 1 3 2 4
3 1 2 $
(c) 4 3
@ 2 1 4

103.
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E?Whlch one is preferred position for breast
feeding a baby with cleft palate ?
(a) Upright (b) Supine
(c) Prone (d) Side lying

Oliguria means

(a) More urine output at night

(b) Urine output less than 100 mlin
24 hours

(c) Urine output less than 100 ml in
2 hours

(d) Urine output less than 400 mlin
24 hours

r=Y
(<3

,

9. The most important indicator of faecal
pollution of water is

(a) Salmonella Typhi-~

(b) E.coli X
(c) Entamoebahistolytica
(d) Vibrio cholerae *

First line treatment of mania is
(a) Benzodiazepine

(b) Haloperidol

(c) Lithium

(d) None of the above

(s ]

1. Which type of Pelvis is commonest and ideal
for child bearing ?

(@) Android
(b) Anthropoid
(c) Platypelloid
(d) Gynecoid
2. In health monitoring system, EHR stands for
(a) Elementary Health Record
(b) Electronic Health Record
(¢) Evolutionary Health Record
(d) None of the above

RN,

s},..“.

.
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107. @ﬁ@mﬁ;ﬁaﬁ
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(a) AUUEe b
P (b) garsw

w0 % forg

108. ATTIRAT 1 Herers
(a) T § SI&T 9 B
(b) 24a%ﬁ1ooﬁ?ﬁvﬁaﬁmgm
(c) 2 =2 H 100 firefiefer & oz
(d) 24 =2 T 400 firefiefiex & =m0 93 9

109. TS Y TG STeT o Tl e o HH-T1 R ¢

| 110. s=re o7 ® Wy UfF 1 STRK HA-T1 2 7

(a) SSt SETSIUA

(b) Tt A=

(c) eefr™

(d) Ioer & | IS T

111. g T 1 Vg FEd ST T S @ 9
waa % fou e dar e ?
(a) TgrEe
(b) TS
(c) =NEEE
(d) TEEETE

112. Wﬁmﬂ%%ﬂﬁgﬁmmwm%?
(a) el Fou TS
(b) TSR Tou TS
(c) T 0w TS

(d) Ioa o & RIS AE
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113, Give the correct order of five stages of dying
person.
(@) Anger — Depression — Bargaining —
~ Denial — Acceptance
(b) Denial — Depression — Bargaining —
Anger — Acceptance
.(c) Depression — Denial — Anger —
Bargaining — Acceptance
(d) Denial — Anger — Bargaining —
Depression — Acceptance

114. The recommended maximum noise level in

India
(@) 95 decibe|

(b) 85 decibel
(c) 90 decibel

(d) 100 decibel
115. In primigravida mothers, what is the average
duration of first stage of labour ?

(a) 6 hours (b) 8 hours

(€) 12 hours (d) 20 hours

116.  Which one is the most important step for

Proper healing of fracture in bones ?
(a) Calcium supplementation

(b) Exercise

(¢) Immobilisation

(d) Antibiotics

117.  Which one is the commonest bacterig

causing gastritis ?

(a) Salmonella

(b) Helicobacter pylori

(c) Neisseria gonorrhoege
(d) None of the above

118. Minimum duration of sleep required daily by

an average healthy adult

(a) 5 hours (b) 3 hours
(c) 9 hours (d) 7 hours
C
A

STN~21
113, W §U A % te =0T 1 @€l 0 S o

() 1Y — TS — FaT — THR —
(b) TTHM — TS — HieT — 1Y — g
(C) STTHR — TTHN — e — WiaT — e

(d) ST — 19 — HYaT — 37HTE — S
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12.

123,

.which of the following personal protective
gquipment will mainly help in prevention of
proplet infection ?
(a) Gloves
(c) Gown

(b) Mask
(d) Shoe cover

management has following functions

except
(aTPIanning
(b) Organising
(c) Dictating

(d) Coordinating

. Which drug may produce red coloured urine

after its consumption ?
(a) Isoniazid

(b) Rifampicin

(c) Iron capsule

(d) Omeprazole

In which of the following condition cord remains
attached to the margin of placenta ?

(a) Battledore placenta

(b) Placenta succenturiata

(c) Velamentous insertion of placenta

(d) None of the above

Which one is the main action of
prostaglandins ?

(@) Acceleration of uterine contraction

(b) Relaxation of smooth muscles of uterus
(c) Helping in Ovulation

(d) Increasing spermatogenesis

- Zip file in computer contains

(a) Data that helps the operating system
(b) A graphical image

(c) Copy of a file for emergency

(d) Huge data in a compressed form

119.

120.

121.

122.

123.

124.
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125.

126.

127.

/n\
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In India death should be registered with in
how many days after death-?

(@) 7 days (b) 14 days

(c) 21 days (d) 28 days

On which day World Health Day is celebrated
every year ?
(a) 5t May

(b) 7t April
(c) 11th June

(d) 1St December

Hepatitis B vaccination schedule in adults
(a) 0, 1, 2 months

(b) 2, 4, 6 months

(c) 0, 6, 12 months

(d)‘g, LG_months

Consider Assertion
select the right an
below.

Assertion (A) : Use of Ultraviolet rays as
water purifier is discouraged.

Reason (R) : It does not have residual
effect.

Codes :

(a) Alis false but R is true

(b) Alis true but R is false

(c) BothAand R is true but R is not
correct explanation of A

(d) Both A and R is true and R is correct
explanation of A ;

(A) and Reason (R) and
swer from codes given

129. In which of the following organs of abdomen

130.

Peyer’s patches are found ?
(a) Esophagus (b) Stomach
(c) Small intestine (d) Large intestine

What do you mean by key logger in
computer ? -
(a) A software for logging in computer
through keyboard ;
monitoring software for recording
® ﬁ:\e real time activities of computer
including key strokes ot dotatle of
itori or de
A monitoring software
= persons working on a computer

(d) None of the above

STN _ 2
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,.'5 The main clinical manifestation of Alzheimer | 131. TeSIT$sR U 1 G&T Taqor 2
" gisease is
(a) Early memory loss (a) T I 7 &
(b) Recent memory loss (b) T 1 Tft 1 &
(c) Early and recent memory loss (c) ‘{Cf 9 BT hi i =1 &y
(d) Whole memory loss (d) Tqul Sfa 1 &1
, What is the total iron requirement during an | 132, w& HE Tofasen o ROyl IETE ATH H
average pregnancy ? ATl Bt ® 7
(a) 300 mg (b) 800 mg (a) 300 faeftumm (b) 800 firefi
(c) 1000 mg (d) 1200 mg (c) 1000 faefi mm (d) 1200 fireht 7y
11 Phobia is an exaggerated or unnecessary | 133. wifsrar fermert IfeifSra o1 ST ww R 7
form of
(a) Fear (b) Anger (a) I (b) =g
(c) Anxiety (d) Love (c) ferar (d) @
4. Whatis the total number of white blood cells | 134. T Tees 9I%F A o T H TS T FHIRTEHISA
in the blood of a healthy adult person ? 6 g1 fraft gdie 7
(a) 4.5 — 6.5 million per cubic milimetre of
blood (a) 4.5 — 6.5 fuferam wfa wgferen focfidfiet @ o
(b) 2 -4 million per cubic milimetre of .
blood (b) 2 — 4 fafera= it wyfere fiefidfier g7 &
(c) 4000 — 6000 per cubic milimetre of _
blood (c) 4000 — 6000 ¥fa Fgfersh forefiies g7 4
(d) 4000 — 11000 per cubic milimetre of :
blood (d) 4000 — 11000 it Ffereh fhrefiiet ga #
. Apersistent, craziness to eat non-nutritive, 135. NYfRCH o @™ 92Te WM & TR 3961 i
non edible items is known as FEd &
(a) Pica (b) Enuresis (a) TTEHT (b) TR
(¢) Encopresis (d) Somnambulism (c) T=nrafa (d) G
3. :n Which year “POCSO” Act was passed in | 136. wid & uisar arfam fpg ad § o g7
ndia ?
ii) 2005 (b) 2012 (a) 2005 (b) 2012
) 2010 (d) 2009 (c) 2010 (d) 2009
137, Norma" hi ; . © ,FQB_H
mally which drug is used to dilate the | 137. Wmﬁgﬂ?ﬁﬁéwﬁ%%ﬁ &
Pupil of eye 7 1 SR fo ST R 7
@) Gentamycin (b Tropicamide (a) Si=ersfeA (b) TITUEMTES
(¢) Levofloxacin (d) Betamethasone (c) TR (d) sherdinad

g
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38, A condition in which foreskin of penis is so
much narrow that it can not be retracted over
the glans of penis
(a) Cryptorchidism
(b) Phimosis
() Epispadias
(d) None of the above

G
O

Which statement is wrong regrading

diphtheria ?

(a) Diphtheria is caused by a Bacteria

(b) Schick test is done to know the
immunity status of individual against
Diphtheria toxin

(c) Diphtheria mainly affect lower
respiratory tract

(d) Incubation period of Diphtheria is
between 2-5 days

140. Which one is the most heat sensitive vaccine,
out of the vaccines given below ?

(a) TT (b) Polio

(c) Measles (d) DPT

(@‘ All the following statements regarding nail

cutting is true except

(a) Finger nails should be cut in one direction
(b) Toe nails should be cut straight across '
(c) Nail should be cut from a corner

(d) Nail should be cut at least every 15 days @

142. All are the organs of lymphatic system

except
(a) Tonsils
(c) Spleen

(b) Thymus
(d) Pancreas

143. All are characteristics of an urban society

exc

ﬁgh Density of Population
(b) Heterogeneity

(c) Anonymity .

(d) Agriculture Oriented

138.

139.

140.

141.

142.

143.
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@fiﬂﬁﬁ?ﬁw%ﬁ%ﬂmﬁ;ﬁ _
%am%%m%amﬁw
= ST gt B 7 T
(a) BreierferfesT
(b) wrEHIEH
(c) Tfreteara

(d) ST | | i3 T

feeefifean /Tfeoft /e T % T gy

HYT AT T 7

(a) Fevefifean weh Sframy 3 g g 2

(b) T3reh udietor & wsh St A fewhfen affgm
ﬁ@mmm%mﬁwmé

() Teeefifan gea w9 & et vawms
= TeTTierd e ®

(d) Feeefifan 1 sgvrem wmer 2 @ 5 R 22

ﬁ%ﬁﬁwﬁaﬁﬁ@aﬁ?{—m?ﬁaﬂﬁ%ﬁw
SR GIEa3fie & ?
(b) difern

(a) 3.4,
(d) .94,

{c) @H

TG e & Feaey 8§ ) Ry o gt o
g, Ram

(@) ST 3 e ek e & e R
(b) m%ﬁﬂ%ﬁ%m@ﬁmwwmﬂﬁ‘
(C) T e Y J e g

(d) T A Py & =y e 15 o @ A A
Frefien & & wfvmar sin ferbfom 7 71
TER?
(a) of=ae

(b) =rsmd
(c) ¥l (wfar)

(d) sreTIE (A

T ¥l TSt 3 ereor ¥, Ry
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o
&Rice water stool is a finding of which

Jisease ?
(@) Amoebiasis

(c) Typhoid

(b) Cholera
(d) Ulcerative colitis

atement is NOT true, in measures

. which st
odour ?

10 overcome bad body
(a) To keep our body clean
(b) To take daily bath

c) To use deodorants

(c)
d) To avoid bath during menstruation

- Which oné is the most common cause of

opthalmia neonatorum ?
(a) Chlamydia trachomatis
(b) Candida albicans
(c) Streptococcus
(d) Staphylococcus

= Diuretics should be given usually at which
time ?
(a) Morning
(c) Evening

(b) Noon
(d) Night

"' Consider the following statements and select
the correct answer from the codes given

below.

Assertion (A) : KMC is a valuable method
of giving nursing care to premature babies
in developing countries.

?eason (R): This method helps in maintaining
2 peatmre, improving growth and reducing
infection in premature babies.

Codes :
(a) Both (A) and (R) are true and (R) is
" corr.ect explanation of (A)
: ) (A) is true but (R) is false
(g) (A) is false but (R) is true
) Both (A) and (R) are false

144.

145.

146.

147.

148.
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fopg S @ 90 R 22 = ae .
e Bt B 7 T (sts) o
(a) AHETERE
(c) TTFHES

(b) &=
(d) Ircuifea sy

iR & grfu At Feifa @ & fae e d
-1 HeH T A AL & 7

(a) 39 YRR ! TS T

(b) S T T T

(c) Teairei=e &1 FamT LT
(d)rrrsmﬁ%hmm@raam

sradrerfiran RAERE H HEH JTT R
FH-ATT 7

(a) FomTEEAT SeRIATEH
(b)a;:sﬁ%’ramaﬁ%rm

(c) e

(d) Efheirehishd
g@tﬁfiﬁﬁrﬁmﬁamﬁmm
=nfee 7

(a) g5te (b) Er9&

(c) ITH (d) Td

ﬁmaﬁﬁmﬁaﬁsﬁﬁqa:ﬁ%ﬁam@ﬁ
o gl ST FHT |

e (A) : Terepraficr 30 A syqteaaa gy A
TEyTe § .U e ecaqul AR E |
W(R):uaﬁfﬁam&mm?ﬁmw
aaﬁaaamﬁ,mmﬁaqmqamwﬁ
=7 S T e el ¢ |

he: '
(@) (A) I (R) T

TR B
(b) (A)EEPT%W((R)TT@?T%
(c) (A)W%W(R)aé?
(d) (A) T (R) 3 7T &

ge & aat (R), (A)Tﬂﬂﬁ
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151.

152.

163.

154.

space is known as

bia (b) Cyanophobia
dustrophobia (d) Nyctophobia

most p

redominant causative agent of
9498 gangrene s
\a) Clostridium perfringens
\0) Gram negative bagillj
(€) Salmonella typhi
(d) HIvV

tissue 7

(a) Complete abortion .
(b) Inevitable abortion

(c) lncomplete abortion*
(d) Threatened abortion L

conscious memory s t
(a) Rationalisation
(b) Displacement

(c) Regression

(d) Repression

Person of Which bloog
universal donor ?
(a) A

(c) AB

group is known as

(b) B
d) O

Which gas was résponsible for
disaster ?

(a) Ethylene

(b) Mustard Gas

(c) Methyl Isocyanate

Bhopal gas

‘

STn\

149, WW@WWE‘“@%MM
¥

SR 7

(a) TR (b) e
(2)aaﬂimﬁﬁﬂ“ (d)Eggﬁiiﬁ

151, %amawﬁqmﬁ‘mfmmga

3
W#Hﬁéﬁquﬁﬁmﬁm?
(a) ot mefrg
(b) rafer mafqrg
(c) 3rqut mfrg
(d) ﬁwﬁa/aﬁiﬂﬁm

152. “m”r%ﬁasﬁmmaﬁmf@:ﬁ
EdSrct

wﬁﬁwﬁm%ﬁﬁmww
ST R ?

(@) Ifiraroy
(b) Toreemys

(c) wftmg

(d) zmq

153, ﬁqmw%wﬁqﬁgﬁaﬁaéﬂm%?
(@) ¢

(d) Magnesium Isocyanate

(b) &
(c) wh (d)
?
154, T e 3t 35 o e e
() 3umsfem
(b) Wrg i
() Aerge
(d) Aefifey ATFE=
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> choneisthe preferred site forintramuscular | 155. = @4 @ P e ..
- !;;lction in under five year old children ? aad Wﬁwaﬁaﬁj_m 37 o g T ¥ fera
(a) Deltoid site (a) @8 * 398 9 |
‘:p\ vastus lateralis site (b) iter % =TEd q
c) Ventrogluteal site (c) Frara o 398 urT
) Dorsogluteal site (d) T % Tt v
yhich is the drug of choice in management | 156. SEeredfaa ¥ gaeH % fT wad @i ga
+f Eclampsia ? FH-HIB 7
;) Diazepam (a) SR
p) Epsolin (b) THIAH
(c) Magnesium sulfate (c) Ffifgam ache
d) Labetol (d) Aeerd
- ndia comes under which region of World 157. vTa e EaTee EeA ¥ form anflg |meA &
Health Organisation ? arfq AT R ?
(3) Africa Region (a) et &
n) American Region (b) IrferT &=
c) European Region (c) T0T &
() South East Asia Region (d) aferor g&f TR &=
“ Which solution should be used to mop up 158, SR el h el T e G ! fren & fae
e spilled blood on the floor of operation g el &1 3TAHT FET AT 7
theatre ?
(2) Cidex (a) FES
(b) Sodium hypochlorite (b) T &1 5
(c) Savlon (c) daam
(d) Formalin (d) e
“4 Which structure i formed by the obliteration | 159- o= o STH %WW%W%WE}%@
of umbilical vein after birth of a child ? T SAATE ¢
(a) Ligamentum venosumg (a) iR aarEd
(b) Vesical arteries,_ (b) Aftreher aafal
(¢) Ligamentum teres (c) formi=en @
() Fossa ovalis _ (d) whrEr aferE
" How many days is the average life span of | 160. ST T SRITRTRTSAT T mwmﬁq
Red Blood cells ? FIEEAre ?
((‘Z; ‘132 days (b) 100 days (a) 80 & (b) 100
0 days (d) 150 days (c) 120 f& (d) 150
27-




o B 161 gaqa?ﬁaa??la’w?ﬂa
161. What s the usual time of eruption of first two . foreheTd g7
lower central incisors ? (a) 2 # 3 HE T
(a) 2 to 3 months (b) 6 g 8 ATE I
(b) 6 to 8 months (c) 10 g 12@E T
(c) 10 to 12 months ) 4 g 2 aret o S =

(d) Between 1 to 2 years

162. During pregnancy earliest time to feel 162.
quickenin gdia
y (a) 12 T8 (b) 14
(a) 12 weeks (b) 14 weeks d) 18 @=Tg
(c) 16 weeks (d) 18 weeks (c) 16 (
163. Which of the following may be an indicator | 163. gmﬁﬁgﬁ;r—m diap el safert H TeH T
of AIDS in an individual ? b ) . :
(a) = -4 FfTEr = G@AT 1000 i =i
(a) CD4 count < 1000 cells/mm?3 firefiefier @ =9 BT
A b) Tt -4 ¥Rl hY AT 800 N Ffel
(b) CD4 count < 800 cells/mm3 ‘f@o . ) forefifier & =9 ?ﬁmsﬁt o
N c) © -4 TRl shl T&aT 400 ERIE
(c) CD4 count < 400 cells/mm3, \ & @ forefidftex & =9 &A1
'O d) ¥ €1-4 sHif¥remsi it w@ar 200 wfa w=gfs
(d) CD4 count < 200 cells/mm3 ‘' Thefitier @ =1 8 1 00

164.  Study of Physical, Social and Cultural history | 164. s & Nifass, o g Hhfaes sfas™
of man is known as I h 1%5-{:[,:{11:[ q =T :7?
STaT ® 7

(a) Social Science
(a) "miSTes fagm
(b) Anthropology (b) frsm
(c) Acculturation (C) THTREH
(d) Sociology (d) THTSIIITEY
165. Which hormone is essential for i I ;
production | 165.
of milk in mothers breast ? m;?ia T % o B-gy TR
(a) F.S.H. (b) Prolactin ‘
(c) AD.H. (d) Oxytocin E‘Zi E“‘gﬁ%@ EZ) e
T ) Ay
166. What do you mean by complete cervical 166. g9 &
; qaqg
dilatation during labour ? Pwa S T Sageher T (ts"rsé%m) =
(a) 4 cms (b) 8 cms (@) 4 Aty
(c) 10 cms (d) 12 cms ©) 10% E:) 8%
1 e~
- ) 12 Sy
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L <t — | with List — Il and select the | 167. o g — 11 @ R
o match List selec =it — | =R g — I 3
yor” ¢ answer from the codes given below. ; s e < iy
cormec d T e § & w3 g |
List —1 List — 1l g - | =
ivati 1. Psychological upset
A. Motivation A 1
g. Frustration 2. Presence of two or mﬁamﬁ%ﬁm EAIIE
more conflicting desires B. frrem 2. =afaa d & A s1fuss fedararh
in an individual =T T BT
c. conflict 3. Blocking of desires or C.eta 3. Frdls=a1 A ITETFdT i
need 3TITEG hT
D. Stress 4. Energising to attain g D. 4. %= Rl te 1 R & fore
some specific goal TsteT BT
Ccodes : e :
A B C D A B c D
@4 3 2 @ 4 3 2 1
w1 2 3 4 + by 1 2 3 4
s R + @ 3 2 1 4
@ 4 2 3. 1 @ 4 2 3 1
4. Hepatitis B vaccination is given by which 168. %ﬁasﬁﬁaﬁ?ﬂ#ﬂ%‘am/azﬁm
route ? Gﬂ?ﬂ% ? "
(a) Oral route (b) Intradermal (a) G5 @ (b) T=TH
(c) Ta= & =t (d) HrEoR |
(c) Subcutaneous (d) Intramuscular
%9 Which method of staining is used to 169. etz F1 3@ & foe 6 SRS
demonstrate acid fast bacilli ? ﬁfﬁaﬂ:&mﬁﬂmaﬁﬂ% ?
(a) Gram’s Staining (a) T eﬂrﬁqﬁ:{
(b) Ponder’s Staining (b) uTsd AR .
(c) Ziehl-Neelson’s Staining’ (c) GHEG"W SIRICE
(d) Albert Staining (d) aFerere AT
1 e _ -
" na2-12 month baby, which respiratory rate | 170. 2 12 Ig&' 5 a%gﬁ?ﬁ CaEEIREIN ELUERL
May be an indicator of pneumonia ? <h1 YA T 1 & ¢
EZ) More than 60/minute (a) 60 wfifFe g Al
(C; More than 50/minute (b) 50 HferfEre # STl
) More than 40/minute (c) 40 o STaT
More than 30/minute (d) 30 gfifere & SITal

|- o



	Template for PYP PDFs - Acrobat PDF - 1st page.pdf
	Blank Page




